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1t () Apersondrawstwoballsﬁ'omabagcontammg3wh1teand4redballs If he is to
receive Rs. 10 for everywhlteba]lwhlch he draws andRs 20 for each red ball. Find

65

his expectation.
InalotofSOhgiﬂbuIbs,thereare2badbulbs Anmspectorcxammesﬁvebulbs, which

()
are selected at random and without replacement : 6.5
(/) Find the probability of at Ieast one defective bulb among the five.

4 (i) How bulbs should be exammed so that probabxhty of finding at least one
bad bulb exceeds 1/2 ?

The contents of urns'I, I and III arerzis follows :
1 white, 2 red and 3 black balls
2 white, 3 red and 1 black ball, and

3 white, 1 red and 2 black balls
One urn is chosen at random arid two balls are drawn. They happen 1g be whm e
ty that they come from urns L1IIorqiy o

red. What is the probabili
6.5

P.T.0,



(2)

quppose that X'is a random variable with E(X) = 10 and v(x) =

(J) N b - 25. Find lhﬁ w
qumber @ and & such that Y = gX — b, has mean zero ang Variance |
» A variate X has the probability distribution %
( 4 ) 3
X -3 6 9
P(x) 1/6 12 173

Find E(X) and E(X?) and using the law of expectation, evaluate E[3X - 42,

(¢) Find the cdf of the random variable X whose pdf is given by :

- flx) = V0<4x<2

ooloo

1.
g
Hence find P1 <X <1.5) and P(X > 1).

(@ tXisa dlscrete random variable with mOf MX(t) and let Y = @X + b. Then prov

that My(r) = eb™My(ar). 6

(b) Ifa random variable X has Poisson distribution with mean unity, then show that : 6
: 2
e

(€) A car hire firm has two cars which it hires out day to day. The number of deman

for a car on each day is distributed as Poisson variate with mean 1.5. Calculate !
. ‘Proportion of days on which ;

6

T Neime sar used

e e

(if) Smne,dgmgndls refuscd (e*‘§ %02231) . : _.4
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(3)
7511

. . 1 = 2
For the following density function /x) = ex*(1 — x), 0 < x < 1, fix)

= 09 OtherwiSe.
Find : | | :
() The value of constant ¢

(i) The mean.

If X is normal variate with mean 10 and standard deviation 4, deteﬁne the probabi: ,
, . 1
PX2T7)- , ety ltz

0.76:. —=»

 [Given: J_ j PEs “dz = 02734]

If X has eXponential di_stn'butipn with parameter A, then prove thatv g

e »
E(X) = =, V(X) = —
(X0 =3, V) = 5

A random samp]e of 10 boys 'had'the following 1.Q .’s

70, 120, 110, 101, 88 83 95 98 107 100

Do th .
ese data support the assumptlon of a populatlon mean 1.Q. of 100 ?
(fo.0s(9) = 2.262), o =, g 6.5

mean *125s 9 and 8 give the sum of squares of deviations from their respective
S equal to
160 inches square and 91 inches square respectively. Can they be

regarded as drq
wn from the two normal populations with same variance ? 6.5

(F005(8 7) = 3.73)



smple of 16 em men from country A had a mean helght of 64 |

N
o @ g O! ruaves from the sample mean is 132, A random sample of 3y
\

e Blud the corresponding values 66.5 inches and 165, Can the
ool

mid&dta\m from the normal population ? [F value for (15, 29y dcmes "
¢ 4 e of significance is 2.11). |

() Findthe sndent’s ¢ for the following variable values in a sample of te .

6,4, -1, - l 0,1, 1,3, 4, 5, tal\mg the mean of the universe to be 2,

() A dieis tossed 120 times and each outcome is n.garded as under :

Fas | 1 | 2 3 4 5 6

jrequency 1 20 22 17 18 19 77

s the distibution of outcomes umform ? ( %(5) 11 07)
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